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HYDROGEN &  
IT'S COMPOUND 

1. uhps nks dFku fn, x, gSA ,d vfHkdFku A  vkSj 

nwljk dkj.k R gSA 

 vfHkdFku A  : gkbMªkstu czákaM dk lokZf/kd 

fo|eku rRo gS] ijUrq {kksHkeaMy esa ;g lokZf/kd 

fo|eku xSl ugha gSA 

 dkj.k R : gkbMªkstu lcls gYdk rRo gSA 

 mijksDr dFkuksa ds lanHkZ esa uhps fn, x;s fodYiksa 

eas ls lokZf/kd lgh mÙkj pqfu, % 

 (1) A lR; gS ijUrq R vlR; gSA 

 (2) A vkSj R nksuksa lgh gSa vkSj R lgh O;k[;k gS 
A dhA 

 (3) A vlR; gS ijUrq R lR; gSA 

 (4) A vkSj R nksuksa lgh gSa ijUrq R lgh O;k[;k 

ugha gS A dhA 

2. uhps Hkkjh ty ls lEcfU/kr dFku fn, x;s gSa % 

 A. Hkkjh ty dk mi;ksx fofue; vfHkfØ;kvksa }kjk 

vfHkfØ;kvksa dh fØ;k fof/kvksa dk v/;;u 

djus ds fy, fd;k tkrk gS]  

 B.  ty ds lok±xh.k oS|qr vi?kVu ls Hkkjh ty 

rS;kj fd;k tkrk gS  

 C. lk/kkj.k ty dh vis{kk Hkkjh ty dk DoFkukad 

vf/kd gS  

 D. D2O dh vis{kk H2O dh ';kurk vf/kd gS  

 uhps fn, x, fodYiksa esa ls lokZf/kd mfpr mÙkj 

pqfu, % 

 (1) dsoy A, B vkSj C  

 (2) dsoy A vkSj B  

 (3) dsoy A vkSj D   

 (4) dsoy A vkSj C 

3. ;fn /kkfjrk vkSj oksYVrk dks Øe'k%  'C' vkSj 'V' ls 

fu:fir fd;k x;k gS rks l, dh foek gksaxh] ;fn  

C
V

= l ? 

 (1) [M–2L–3I2T6] 
 (2) [M–3L–4I3T7] 
 (3) [M–1L–3I–2T–7] 
 (4) [M–2L–4I3T7] 

4. dsyxkWu dk mi;ksx ty ds mipkj esa fd;k tkrk 
gSA dsyxkWu ds lanHkZ esa fuEu esa ls dkSulk dFku 
lR; ugha gS ? 

 (1) dsyxkWu esa] Hkkj vuqlkj Hkw&iiZVh esa nwljk 

vfr ckgqY; rRo lafufgr gSA 

 (2) ;g cgqydh ;kSfxd gS vkSj ty esa foy;'khy gS 

 (3) bldks xzkge yo.k ds uke ls Hkh tkuk tkrk gSA 

 (4) ;g Ca2+ dks vo{ksi esa ifjofrZr djds i Fkd 

ugha djrk gSA 

5. uhps nks dFku fn, gSa : 
 dFku I : {kkjh; ek/;e esa H2O2 vkWDlhdkjd rFkk 

vipk;d nksuksa dk dk;Z dj ldrk gSA 
 dFku II  : gkbMªkstu bdkWueh esa ÅtkZ dk lapj.k 

MkbZgkbMªkstu ds :i esa djrs gSaA 

 uhps fn, x;s fodYiksa esa ls mijksDr dFkuksa ds 
fy, lgh mÙkj pqfu, : 

 (1) nksuksa dFku I rFkk dFku II vlR; gSaA 

 (2) nksuksa dFku I rFkk dFku II lR; gSaA 

 (3) dFku I lR; gS ijUrq dFku II vlR; gSA 

 (4) dFku I vlR; gS ijUrq dFku II lR; gSA 

6. H2O2 ds fy, lgh dFku gS : 

 (A) bldk mi;ksx cfglzko ds mipkj esa djrs gSaA 

 (B) bldk mi;ksx vkWDlhdkjd rFkk vipk;d  
 nksuksa ds :i esa fd;k tkrk gSA 

 (C) blds nksuksa gkbMªksfDly xzqi ,d ry esa gksrs 
gSaA 

 (D) ;g ty esa fefJr gks tkrk gS 

 uhps fn, x;s fodYiksa esa ls lgh mÙkj pqfu, : 

 (1) (A), (B), (C) rFkk (D) 

 (2) dsoy (A), (B) rFkk (D) 

 (3) dsoy (B), (C) rFkk (D)  

 (4) dsoy (A), (C) rFkk (D) 
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7. Hkkjh ty ds lacU/k esa xyr dFku gS@gSa % 

 (A) bldk mi;ksx ukfHkdh; fj,DVjksa esa eand ds 
:i esa gksrk gSA 

 (B) ;g moZjd m|ksxksa esa miksRikn ds :i esa izkIr 
gksrk gSA 

 (C) bldk mi;ksx vfHkfØ;k fØ;kfof/k ds v/;;u 
esa djrs gSA 

 (D) bldk ijk oS|qrkad ty ls vf/kd gSA 

 uhps fn, x;s fodYiksa esa ls lgh mÙkj pqfu, % 

 (1) (B) dsoy   

 (2) (C) dsoy 

 (3) (D) dsoy 

 (4) (B) rFkk (D) dsoy 

8. /kuk;u rFkk _.kk;u foue;d jsftuksa ds vk;u 

foue; xq.kksa ds fy, mÙkjnk;h fØ;kRed lewg 

Øe'k gSa %  

 (1) –SO3H rFkk –NH2 

 (2) –SO3H rFkk –COOH 

 (3) –NH2 rFkk –COOH 

 (4) –NH2 rFkk –SO3H 

9. nks dFku fn,] dFku A rFkk nwljk dkj.k R gS % 
 dFku A : vLFkk;h dBksjrk okys ty dks mckyus 

ij Mg(HCO3)2, MgCO3 esa ifjofrZr gks tkrk gSA 

 dkj.k R  :  Mg(OH)2 dk foys;rk xq.kuQy 

MgCO3 dh vis{kk vf/kd gSA 

 mijksDr dFkuksa ds lanHkZ esa fuEu fodYiksa esa ls 
lokZf/kd mfpr mÙkj pqfu, % 

 (1) A rFkk R nksuksa lR; gSa ijUrq R, A dh lgh 
O;k[;k ugha gS 

 (2) A lR; gS ij R vlR; gS 
 (3) A rFkk R nksuksa lR; gSa vkSj R,A dh lgh 

O;k[;k gS 
 (4) A vlR; gS ij R lR; gS 

10. {kkjh; ek/;e esa H2O2 fuEufyf[kr vfHkfØ;kvksa esa 
ls dkSu lh n'kkZrk gSA  

 (A) Mn2+ ® Mn4+ 
 (B) I2 ® I– 
 (C) PbS ® PbSO4 

 uhps fn, fodYiksa esa ls lokZf/kd mfpr mÙkj 
pqfu, % 

 (1) dsoy (A), (C)  (2) dsoy (A) 
 (3) dsoy (B)  (4)  dsoy (A), (B) 

11. MkbgkbMªkstu dk ,d vdsyk lcls o gr 

vkS|ksfxd mi;ksx gS% 

 (1) /kkrq ds gkbMªkbMksa ds mRiknu esa  

 (2) varfj{k 'kks/k esa jkdsV bZa/ku ds :i esa  

 (3) veksfu;k ds la'ys"k.k esa 

 (4) ukbfVªd vEy ds la'ys"k.k esa 

12. /kkfRod lksfM;e izk;% ftlls vfHkfØ;k ugha djrk 

gS] og gS: 

 (1) veksfu;k xSl  

 (2) C;wV-2-vkbu 

  (3) ,Fkkbu   

 (4) tert-C;wfVy ,sYdksgkWy 

13. gkbMªkstu ds os leLFkkfud tks de ÅtkZ ds  

b– d.k mRlftZr djrk@rs gS@gSaa ftuds fy, t½ 

dk eku > 12 o"kZ gS] og@os gS@gSa &  

 (1) izksfV;e      

 (2)  VªkbfV;e      

 (3) M~;wVhfj;e      

 (4) M~;wVhfj;e rFkk VªkbfV;e 

14. uhps nks dFku fn, gSA ,d dk uke vfHkdFku (A) 

rFkk nwljs dk dkj.k (R) gSA 

 vfHkdFku (A) :  Hkkjh ty dk mi;ksx jklk;fud 

vfHkfØ;k fØ;kfof/k ds v/;;u esa gksrk gSA  

 dkj.k (R) : O-D vkca/k dh rqyuk esa O-H vkca/k 

ds fonyu ds fy, vfHkfØ;k dh nj de gSA  

 uhps fn, fodYiksa esa ls lokZf/kd mi;qDr mÙkj pqusa&  

 (1) nksuksa (A) ,oa (R) lgh gS ijarq (A) dh lgh 

O;k[;k (R) ugh gSA 

 (2) nksuksa (A) ,oa (R) lgh gS ijarq (A) dh lgh 

O;k[;k (R) gSA  

 (3) (A) lgh ugha gS ijarq (R) lgh gSA  

  (4) (A) lgh gS ijarq (R) lgh ugha gSA 
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15. M~;wVhfj;e ds xq.k gkbMªkstu ls feyrs gSa] ijUrq 

;g% 

 (1) gkbMªkstu dh vis{kk ean xfr ls vfHkfØ;k djrh gSA 

 (2) gkbMªkstu dh vis{kk izcyrk ls vfHkfØ;k djrh gSA 

 (3) gkbMªkstu dh rjg gh vfHkfØ;k djrh gSA 

 (4) b+ d.kksa dk mRltZu djrh gSA 

16. fuEufyf[kr esa ls dkSulh ,d fof/k fovk;fur 

ty rS;kj djus ds fy, lokZf/kd mi;qDr gS ? 

 (1) la'ysf"kr jsftu fof/k  (2)  DykdZ fof/k  

 (3) dsyxku fof/k  (4)  ijE;wfVV fof/k  

17. uhps nks dFku fn, gSa :  

 dFku-I : syn-xSl  ds  mRikn  izØe  dks  dksy  dk  

xSlhdj.k dgrs gSaA  

 dFku-II : syn-xSal dk la?kVu gS CO + CO2 + H2 

(1:1 : 1) 

 mijksDr dFkuksa ds lanHkZ esa uhps fn, x;s fodYiksa 

esa ls lgh mÙkj pqfu, : 

 (1) dFku-I vlR; gS ijUrq dFku-II lR; gSA  

 (2) dFku-I lR; gS ijUrq dFku-II vlR; gSA 

 (3) nksuksa dFku-I rFkk dFku-II vlR; gSaA 

 (4) nksuksa dFku-I rFkk dFku-II lR; gSaA 

18. fuEufyf[kr dFkuksa esa ls dkSu&lk ,d xyr gS\ 

 (1) H2 ds v.kqvksa dk mPp rki ij ijkcSaxuh 

fofdj.kksa ls fdj.ku djus ij ijekf.od 

gkbMªkstu mRiUu gksrh gSA 

 (2) 2000 K ds vkl&ikl MkbgkbMªkstu dk mlds 

ijek.kqvksa esa fo;kstu yxHkx 8.1% gksrk gSA  

 (3) f}ijek.kqd xSlh; v.kqvksa] ftuesa ,dy vkcU/k gS] 

esa H2 dh vkcU/k fo;kstu ,UFkSYih mPpre gSA  

 (4) ftUd ij HCl rFkk NaOH(aq) nksuksa dh 

vyx&vyx vfHkfØ;k ls MkbgkbMªkstu mRiUu 

gksrk gSA 
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SOLUTION 

1. Official Ans. by NTA (2) 

Sol. Most abundant gas in the troposphere is 
nitrogen. 

2. Official Ans. by NTA (1) 
Sol. Heavy water is used in exchange reactions for 

study of reaction mechanisms 
 Heavy water is prepared by exhaustive 

electrolysis of water. 
 B.P. of D2O = 374.4 K 

 B.P. of H2O = 373 K 

 Viscosity of H2O = 0.89 centipoise 

 Viscosity of D2O = 1.107 centipoise 

3. Official Ans. by NTA (2) 
Sol. For tritium 3

1( H)  

 No. of neutron (n) = 2 
 No. of proton (p) = 1 

 =
n 2
p

 

 Q
n
p

 is high, 

 tritium will emit b particle. 

4. Official Ans. by NTA (1) 

Sol. ® 2nd most abundant element is "Si" and it is 

not present in calgon  

  Na6P6O18 = (Graham's salt) 

            (Sodium hexametaphosphate) 

 ® It exist in polymeric form as (NaPO3)6 and 

water soluble compound 

 ® It  removes  Ca2+ in soluble ion but not by 

precipitation 

5. Official Ans. by NTA (2) 
Sol. (a) H2O2 can acts as both oxidising and 

reducing agent in basic medium. 

 (i) 2Fe2+ + H2O2 ® 2Fe3+ + 2OH– 

 In this reaction, H2O2 acts as oxiding agent. 

 (ii) 
7 4

– –
4 2 2 2 2 22MnO 3H O 2MnO 3O 2H O 2OH

+ +

+ ® + + +  

 In this reaction, H2O2 acts as reducing agent 

 (b) The basic principle of hydrogen economy is 

the transportation and storage of energy in 

the form of liquids or gaseous dihydrogen. 
       Advantage of hydrogen economy is that 

energy is transmitted in the form of 

dihydrogen and not as electric power 
6. Official Ans. by NTA (2) 

Sol. 

 
 H2O2 is used in the treatment of effluents. 

 

 

act as both O.A & R.A. 

 H2O2 is miscible in water due to hydrogen 
bonding. 

7. Official Ans. by NTA (3) 
Sol. The dielectric constant of H2O is greater than 

heavy water. 

8. Official Ans. by NTA (1) 

Sol. Cation exchanger contains –SO3H or  

–COOH groups while anion exchanger contains 

basic groups like –NH2. 

9. Official Ans. by NTA (4) 

Sol. For temporary hardness, 

 Mg(HCO3)2 
heating¾¾¾®  Mg(OH)2¯ + 2CO2­ 

 Assertion is false. 

 MgCO3 has high solubility product than 

Mg(OH)2. 

 According to data of NCERT table 7.9 

(Equilibrium chapter), the solubility product of 

magnesium carbonate is 3.5 × 10–8 and 

solubility product of Mg(OH)2 is 1.8 × 10–11. 

 Hence Reason is incorrect.  

 The question should be Bonus. 

O O
H

H

Structure of H O
(Open book type)  Non planar

2 2

®

H O2 2

R.A.

O.A.

O2

H O2
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10. Official Ans. by NTA (4) 

Sol. In basic medium, oxidising action of H2O2. 

 Mn2+ + H2O2 ® Mn+4 + 2OH– 

 In basic medium, reducing action of H2O2  

 I2 + H2O2 + 2OH– ® 2I– + 2H2O + O2 

 In acidic medium, oxidising action of H2O2. 

 PbS(s) + 4H2O2(aq) ® PbSO4(s) + 4H2O(l) 

 Hence correct option (4) 

11. Official Ans. by NTA (3) 
Sol. Informative, according to ncert uses of di 

hydrogen. 
 In  fact  NH3 largest production in used to 

manufacture nitrogenous fertilisers. 
12. Official Ans. by NTA (2) 

Sol. Metallic sodium does not react with 2-butyne 

because 2-butyne does not have acidic hydrogen. 

13. Official Ans. by NTA (2) 
Sol. 1

1H  and 2
1 H  are stable while 3

1H  is radioactive. 

14. Official Ans. by NTA (4) 
Sol. D2O in used for the study of reaction 

mechanism. 

 Rate of reaction for the cleavage of O–H bond > 

O-D bond. 

15. Official Ans. by NTA (1) 
Sol. The bond dissociation energy of D2 is greater 

than H2 and therefore D2 reacts slower than H2. 

16. Official Ans. by NTA (1) 
Sol. Pure demineralised (de-ionized) water free from 

all soluble mineral salts is obtained by passing 
water successively through a cation exchange 
(in the H+ form) and an anion exchange (in the 
OH– form) resins. 

17. Official Ans. by NTA (2) 

Sol. The process of producing syn-gas from coal is 

called gasification of coal. 

      Syn-gas having composition of CO & H2 in 1 : 1 

18. Official Ans. by NTA (2) 

Sol. Atomic hydrogen is produced at high 

temperature in an electric are or under 

ultraviolet radiations 

 The dissociation of dihydrogen at 2000 K is 

only 0.081% 

 H–H bond dissociation enthalpy is highest for a 

single bond for any diatomic molecule. 

 Dihydrogen can be produced on reacting Zn 
with dil. HCl as well as NaOH (aq.) 


